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Puzzle 1 (Easy, difficulty rating 0.39)

P |
o|t|—|oo|m|o]|=[wo]  B~|—|~|m|o|wo] |00 <t |m|o|af—|o|o|o|—]  F|—|~|w]o|n|o]m|of<
o o
w(|m|=|of—|of<t|o] Ho|m|o]o|w||anf—|~] B[] |w|o]m~[o] oo |w|m|~|o] (]
B ® B
~|(o|o]s|Njwlo|m|—] S| ©|w]=|aN o |mlo]  Slo|=|wlm|—| oo S| o m] (o S —|w o
2] 2 2]

o2l Tel o [se] Rad RSl [So] [NV] (et N [To) [ KSa] i [Ze] [NN] [cel [PV Ry I [SelRe2I RSy [ (el KSNT (Vo] ot [To) N (o] (SN] 1oyl (o] (ool Rt R fo2] [To)
—[m]|jo|—[o|wfo|t]  Tlo||o]st|m|wlo[~|—]  T|o|w|—|o|o|t|~|Nfm] T|o| o]t | eumf—
£ S S
ofo|t|N|w|[ol—[o|~]  Slo|[s|—]o|~|o|m|wla]  Si|o[Nw|m]—|o|o(s] S| —|m|o]| o]~ [w
e © e
() (] ()

A [wlm|o|~st(o|o]  Zlm(w| (o=l Z || ofcjmlo|wfo] Sl | m]wofa| o
N ™» <
<t[~|o]—|o[nfjofw|m]  o]N[o|o|w|o|—|—[s M)  e]o|o(d]— ||l ] o] M[No o] O] ][~
X E X
m|o|o]w]||©ol~|— e i o S S S L I S R it Ll A ] P Lo (o] (] ) i B (S B




